: /
b 5 /4/"’/ 0
/%MPW@% ;‘;5&[

o& Mﬁf&ﬂ‘ 2 :_? (/ «/M . .,?/g"fg; _____ :

—

K f ? i %Véaaz’ UIHLAT z&‘
T g(jg,(/f«‘“f gz‘“‘ A’f &*""7 /7- 5}/¢m3 o
e N 1/"’- V9PV
(5 ™ax S 75 ) lf”@
B - N \ s.fi" fi”_f?;» 565
- S -' - f_i"'; g »»%/
B /m ’T
— N — ,,ﬁ;ﬁﬁ?f?;

75,3 %w;




’ | 1 !
e " = h - itk i K- e S B S S SERPEC SRS S CO, S S g - i B —— - e P £ H
| " | |
- ; " ; 4 i ] : : : i i ; - L
t T t E H T ¥ i
£ ; | : H _ x 1 | i
S L YU # T s e e s ik e B s (S-S ) F U S R e B - S sf i =3 o e i
o] _ L S s e o TSNS NS SN SNSRI SIS SRS (S UV (SN SN SN S (0 b e e 1 e
: i ! : i
. 1 ' 1
e, T e et S SR NYRPRUML SR = st e S st S SR 4o LA, e i e - -
X L | ! !
“— i ; + T SR S IS S
: ; . W : .
$ et SR R e e S e A e e e e = RES SRS -+ e e e m————— = T R O SRS T ol
e YN 21? . I ik S =S WSS I NI SN Y S i e S S N S
3 3 ! i ; ; .
. ,,f/c‘ o, IR R T TN T S S R . S S S A i R ! £
RSP\ | j “
| n. .m—, - .,LL...I.+ S rm,i...i S L i (LI T B DSOS S g A 7 S —— ! S 3 1
i | I i
—fede ../ﬂwL = :}& L SN, - S - o e R S SN T A AP | ik £l A i e
f'u\l & n” ! | ] i i
¥ | ' |
i ' s -.,:» e B T i e i e B ey LI SN R S T it 4 - o
3 i H ' 1 H '
< ! : | i ;
ssssinl b PO ;Lﬁ, " LAY e P R SR 1 .I'..rllj.itli.. e it s b s i i i o s R IR TP s +
{ H Lad I | 1 | | f : '
. o i - 1 i i i t i .
= T, W !iﬂ“.f.ril.lir:?,i- B N R e e e e s Il S EAR | SHTRPUE SOV S ANUNS G N N B8 SR i o
! X : é |
B s —— - + + - T e e B S S S S S S A
i 3 . { 3 . i
o T g ENNE % - e M3 s _ S INNL GOSN S N L
S y s S S S S ! — +— ' ' e RS SN G I (S S R S ISR b i o
iy i O.T. AV U [ S_—— WPEA B Bt e e e s o CENR) IVRRE SRS SN ST SN S 4 . s - - - -
...Jf.w.. SR PR e —— + . + i e e e e e g s S e e - T ——
| X | NS | |
s »r g SN SR N M: e wrigh -t SR PSNGS- USRS L NOS! () g S S 1 i '
M i ’. m “ ! B 1
|6[ . m ; .ﬂ.lliir " ; I e s RN USRI SN ST SO SN SRS (SR I R
5 T e SV, SUPR' - - e —— U WIS SRS (5 e i ol SO S U S R —ia - - -
i H :
i i { .
= 4 2, A T— 1 | NEE S i RSP e S (- i i e e AR S s =3 4 e e
SRE | AL U N . S — = S SN SR S-S S R S A OO T
ﬁ ‘ i : i
N S s, SOTER R 3 = [ FESPEE e e e e IR U S UtY WU UE N SO | 4 =
L i ey A R " | o = B et ol TS LNOUIT SNV S (Y S (RN SN RS e e L - i
i i : :
— SN, — O ey P e T S S B e S . SR 3 o e - - -
X B s I S R - I ST S0 SRS SIS, S—— N EOEEE S L | 4 i 3t %
i : i
¢ = | ]
L p— .ﬁ e EUN W IO L B S T S S : T ST S e N S | N S ) A NS [ . 1
i ' ' | 1
i | i H : i i ! : ¥
et ‘.w —— $mszafescd B s L TRPPMISE Y PSS (Ut S e e e e — A h il il s —
| £ i '
h!.. —— B e e A ———— cpm et B e e e oy R S B e U E— - —— ey Ct SR SRR P = 4 E—
| | { ! i i i ! H H
¥ i i




%)

_J 45'0!( 5)( &)( /e?w
/%5% )//é FALY,

i) S

fowc%mxw e o PETR byt

{:f 4 /(3) (Los) T

- % = 3 2@07 B / ;

e 52(9‘()‘3 __
- 5:/[// ?éifm_)ma a_ " ‘/_n_/éi )(/a’";/

3»?%5 P&a;ﬁryg‘mjf —-7y ;
_ PLTO00 3

o (/;ﬂ%wmdz) . %_ 5

o 28PN 72855 1f 557 0
l/ - et _/ﬁf“fﬁ (7487 <) ”5%53*}/?«“?

| / M=V D = (58433 5173500 Vg,
- / Y e




Al Mffcg{ Kz/f A7, 100 L83 Lolnree < (f Gar G O

. oe 3 L x{; Z}a_ /;/M = 23 73%/. o

| Z ( 100 L4355 Y }
- (4/5} - //5350% /%Mﬂﬂs -

g //\s éﬁ%/@yﬁjjé)(/wa»%/)iﬁz_)‘
S ‘/@._.--;)ﬁ L& Tld T

/3 L th X/mwd/ Y 13 ofsfgl -«%y@é e
gz’ D) ) e

f B /? /5 edc X0 2%’ ézx%;’}"f/ ,c—m;s _
j /(//z L pE- }/Méxfﬁ TO Jipoe’ sufivy
Pzﬂ?ﬁ P ad z:;‘é{j



Part 2:

e) Which of the following would most difficult to lift into the back of a pickup truck?
(I) a 100 Ib bag of potatoes (II) a 15 gallon plastic bottle filled with water or (III) a
3.0 L flask filled with mercury (density of water = 1g/ml; density of Hg = 13.534

g/ml)

Parts of the atom:

...One thing to remember, if an atom has no charge then the number of protons will equal
the number of electrons.

1)

2)

3)

4)

6)

Part 3:

How many protons are there in carbon 12?

Z

How many neutrons are there in sodium 23?
23~/) = AN o0 ss

If an oxygen atom is neutral, how many electrons does it have?

&

How many protons are there in uranium 235?

72

How many neutrons are there in uranium 235?

What is the average atomic mass of Mercury? s

J00.5% Amy

Average Atomic Mass:

A new element Cornium (Cn) has been discovered with two isotopes, Sweet Cornium
and Feed Cornium. s*¢tCn has a mass of 0.82 amu and *edCn has a mass of 0.78
amu. If the relative abundance of sweet Cornium is 35.8% and the relative
abundance of feed Cornium is 64.2%, determine the average atomic mass for
Cornium.

[5 vty ]

- =
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3)

5)

Close on the heels of Corniums great discovery was the discovery of Beanium (Bn).
Beanium has 3 isotopes, PintoBn, kidneyBn and BlackEyedBn, The masses of each are 1.25
amu, 1.36 amu and 0.98 amu respectively. If each has a relative abundance of
33.3% what is the average atomic mass for Beanium?

[ A5 A JC330¢ (1:3c preX 333) + (.58l 333)

= LAFTY Rt e
[ = tao %é/

e IR AN
TS

Carbon 12 occurs in nature 98.89% of the time, and carbon 13 occurs 1.11% of the
time. What is the average atomic mass of carbon?
12C = 12.0000 amu 3C = 13.0034 amu

(! 206290#’%( \(-2889) ¢ (130034 tuee) ,0117)

[':r '/.‘af

Ol Avtiy )

Lithium 6 has a relative abundance of 7.42% and lithium 7 a relative abundance of
92.58%. What is the average atomic mass of lithium?
6L, =6.0151 amu 7L = 7.0160 amu

(C.0157 4241 [ 07/2) + (2.0 t60 Mt ) 9278
S il

i GRS A

The fractional abundance of nitrogen 14 is 99.63% and for nitrogen 15 is 0.37%.
What is the average atomic mass?
14N = 14.0031 amu 3N = 15.0001 amu

[t4.003 4210 95, 7) + (110000 Artit)( 003 2)

= 1400 Auty
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